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Look at the pictures and complete the dialogues as shown in the example.
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Match each kinship term with the correct gender.
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Look at the pictures and answer each guestion as shown in the example.

[27]]

A O|A= =7 SHYLI

5. Actiel golofuict

L O[HE =72 ZHUULITr?

D 0|HE T REAAYLIT?

L 0| M= =7e BRI

0= =7of ZHo[2t L7t

re

of>

re

af>

J8S B M,

Look at the picture and complete the story.
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Look at the pictures and complete the dialogues as shown in the example.
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Look at the pictures and complete the dialogues as shown in the example.
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Look at the pictures and complete the dialogues as shown in the example.
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Match each phrase with the appropriate ending.
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Look at the pictures and complete the.dialogues as shown in the example.
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Complete the sentences using the appropriate ending.
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Complete the sentences with the correct form of the verb in parentheses.
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Look at the pictures and complete the dialogues as shown in the example.
7I2X|Ct
[E7]]
~ Hi<ot ?
o,
%K A ':
% \"-.‘, III rt
D N
Ig'_ L —
“aq,ham 1)
- o] o A -
s aets B : 2| Olt{Xl= Z1E
2)
A EOIHX|= XIZ H ?
B:XZ
3)
EAoin A EoiLL= Of) & ?
B: HojN SU2
4)

A A, ofFl ofClol M Eas ?

B: M= MEA0A

~J

LBlvtS 3Rloime



28

mo

=i hE Y

to

o= A 2
& A= pariern Pracrice

I " track 02

—

r2
ol>

11}

[E7]]

MM (T) 017 &7 fuatoloe?
s A

5t A4 (S) (otz[zt W) OF7 |2k M2l 24tojoflL,

T HHe =7 |SUHE0I0R?

S (LI M)

S (AEE M)

S (<2t

[27]]

T Oa7e &+ 2Holak?

. T 0jHE &7 AEAMK?

. T HMAE £ 7o’

re

o>

r
aol>

[B7]1] MME(T) 022 =7MK?

8 M (S) (ohHX]) R2| OHHX|MIR.

OlE2 =7MR?

(0L )

O|Z2 F=TAMR?

(M=)

0|22 +=7MR?

( )

L

el
=)

0|22 +=7MR?

(A

=)

oA

0= 0
@
F;
0x
oC
rx
0x
oC
rlo
"
=
>
jz
=
FO

(s

~—

A2 oK 211715 HAUNK.

==

(AA

—

d)

0

(Bl SEl0 26



28

hEr o

=1
f=4

to=]

Ao
g
re
o>

L] [[H
The time

* SAL2
Verb 2

L A2t

S N7JHK|
* V-O}A/0{ A
*V-(2)z ol




BRI s A AV LW

32

3 8k

I

fo=ie

Asl oze s szse.

Match each word with the corresponding picture.
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Look at the pictures and ask each other questions and respond as shown in the example.
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Look at the pictures and complete the dialogues as shown in the example.

[&7]]

A Xl H siR?

B:

Hadla

A Xlg H&lie?

B:

A

A

L XI2 o a7

L 25 220 A SiR?

- oA Mol A Roie?
Rt 2ol & #Ho{R?

3 Hinlv 2 Olv krni



yi

=
[&7]1]

| -

32

®

x

o
-
h g AL

= =

=

.

51 e 2o =709 20l ool =ML,
Look at the pictures and ask each other questions and respond as shown in the example.
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Look at the pictures and ask each other questions and respond using the picture.
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Look at the pictures and complete the dialogues as shown in the example.
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Look at the pictures and complete the sentences as shown in the example. [E7]] _. .
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Complete the table with the correct form of each verb.
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Complete the sentences using the appropriate grammar from the box.
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Look at the pictures and complete the dialogues as shown in the example.
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Complete the table with the correct form of each verb.
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Complete the sentences as shown in the example.
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Look at the pictures and complete the dialogues as shown in the example.
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el M mEo|A B TIE BHRESLICE XP|
A4S St MZo| FH(E, +U, 2tth AL, OO
MS Eell 2MIQ.

You meet a Korean person at your friend’s birthday
party. Introduce yourself and decide what to call each

other using relational designations such as &, 1},
o, o, X,

el Ml mEjoM 2= & BHtELICE X1
S St M2o| S, FLf, 2 L], OO
Ml)— KlaH HAMR.

You meet a person from a foreign country at your

friend’s birthday party. Introduce yourself and decide

what to call each other using relational designations
such as &, 1, @, Ay, A,

o4 ESL| ¥ L}o|

OHLEA BH7EQIR, QK.
ML oj2|Ttel L,
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Aag1 s u0 vz gue ooz vue.

Complete the body-part words.
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of>

re

o>

2 w32 s ezse

Match each picture with the correct word.

) 2 - 3

O @3

3 wore zig czse.

Draw a line to make a sentence for each picture, as shown below.
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Look at the pictures and complete the dialogues as shown in the example.

[&7]]

A OEA 240{27

d&1 oenzolsue.
Complete the table with the correct forms of each word.

B:g¥9x L} wiz] E. ofumlg

-oi/0le | -U0i/AUoi2 | —&LIcl/ =Lct L
1
LpeCf Lk 2 Lithod 8 LE8 Lt Lbe 3 )
D XIF Az AoIR?
HpgHC}
o]l =]
Cfiirkeduly OI-1=2.
g2
ofzc}
OffBe C 2)
ML} Hi ot Tmte?
nr} Ot12
OrElS of MRl
g2 (200 2ol 2HE ML, 3 N
Complete the sentences with the correct form of the word in parentheses. LAY Fskeie
1oe
[571] 2= XHo ] ? 20| MY HoiR, 20|
(HISCE + —0tR2/0R)
4)
1) 7 X g HENR?
(BHZZC + —0LR/0R) (XZ HaRe?
2) 7|EE ®olsln B :
(Ol=C} + -0}2/0L)
3) Lt ME LI} M SAIE . 2
BiC} + -1 WO+ 0lRQ/0{Q
(OflB8C} + — 1) (Ol L} + —0tR/012) CHFEE 25 9N OR?
4) AFHZ 2L E _
| A= o =
(mct+ 1) (1} + —oMR/M2) ol == E01R
5 =2 HMIt SttE 2 Ao,
LIBHC} + —X|3t
(Lteect 12h) 5
EY
6 Ofli= U7[E o ose = . oo = gimon
(MLCH+ —x|2h) (ML + —82/2 oK) = & ol
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D0,
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Look at the pictures and complete the dialogues as shown in the example.

d&1 a2 20w o 2ys esme.
Look at the signs and create the sentences as shown in the example. [E7]]

[87]]

Z2H4F2 olAla

FXI8ict o park @ st = warm water

AKX ZHAOIM 28 A7te?

B: # 7FAleflA] AFz] ofAdle

HIMIS.

A 700 2ROIL.

AKX Eal

Mo|AHL?
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Look at the pictures and complete the dialogues as shown in the example.

OES B [E7]]eF 20| thEIE 2tMEIMIL,
Look at the pictures and complete the dialogues as shown in the example.
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A TN EfREEE woIQ?
[ 27]] ]
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B:ojle Ha°ldiEt uHeia

B:ojg, “H-F#uFsloia

AEH0IR7 A THY YIS 127
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2
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Look at the pictures and complete the dialogues as shown in the example.

A EHOIME 2R
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. == of :
A OIM| WHEE Blo| o oR? Create the sentences as shown in the example.
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Complete the table with the correct form of each word.

_ —olop/olok s | | -opopoiorsia | | —ofok/oiof 542 |
Jtc 7ok Bz | ARl op=ry

ot HAsH} | e

e | o s

oo st | | an

1E8E B3 [H7]]9F Z0| thEs 2A5tL,
Look at the pictures and complete the dialogues as shown in the example.

[ &7]]

L 4 mtejofl 712,

25 H ele?

L 297t 2] Zoj 2L,

A& 3 1w =1 (w0 2ol 2Y2 2SR,
Look at the pictures and create the sentences as shown in the example.

[E7]]

arlof @&

2)

= 0{E i ZLICH
3)

LHY d=Alof Ziict
4)

rf
of>
S

Ol AFH2 oG sHOF SHR? 21718} Oj0F7 |50 HAM|R.
What should they do? Talk about it with your partner.

g Pap-= safety belt  QF= suit
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Complete each dialogue with the appropriate expression from the box.
MEx[EE =N

2rgs| AN HEMSR

HEPHS 7} O|EA =ML

B 1880-54880/0]| 2.

)
) A
7] & MM el pf?
B: U, 2F&LICH,
3)
B : XM= AEIEQ]LICH
4)

J8E B [E7]]9 20| 2XS 2SR,

Look at the pictures and complete the sentences as shown in the example.

[27]]

3)

BE H1 [H7]]eF 20| tiEE MM,

Look at the pictures and complete the dialogues as shown in the example.

[87]]

B: U, o208 ZLER.
A ?
B: 4l SRANL.
Al ?
B: U, Q.
A ?
B: 4 ¥,
A ?

Ot L, & 23l

A ?
B: U, #0[2E HIAUNR.
A ?
B:Ul, &AL,
A ?
B: 4| HYAHL.
A ?
B : ul, M7t MO 2.

~J
~0

Blvsko el




80

2
Mo

SN

o=

r
o>
N

JgE 2 [27]]e 20| thels 2AEtMS.
Look at the pictures and complete the dialogues as shown in the example.

[E7]]

A0l “HF4 FEcHEe|zla 9

2. V-2 9ict

1 2z ww w09 2ol deis euse,
Look at the pictures and complete the dialogues as shown in the example.

yi

o[>

B: Ul M FoiZolofL.

A ARE M= X2 5197

B i H’E’-EH%I'J-L °A°" 2

ALQAA M, ?
B: Ul Y= AlEO[0L,
2) '
A 0|A ? L ORE|E Mz XIZ ¥ sHR?
B : Wi, Ml ARHOj0llL.
3)
AdH 9
otle, AF0f0R
DR ME XE EERe?
4)
A2 W= ?
OtLlR, Bt=0f MAEOo|02
A5 3 wpe 22 32 UeE LML, B2 s X129 HiR?
Complete the dialogues with the correct word from the box.
= A ofC| H ot = Al oz

A 047|7¢ X27?
B: 07|= =002,

2)
AXlg X7
B : 2A| 1520/0f2.
3  /
15,00030|0f 2.
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1 AHES  ARIR?
‘L;;' K22 22| ofpLMR.
‘_I"ll\_\._
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Look at the picture and complete the dialogues as shown in the example.
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oj>

L pcmague Rz aer B €)M
) A:AEE ME X2 Y 817 B: '@
2) A:LLE M= XIZ g 3R7 5 :
3 AARY ME X2 9 E#2? B: WY
4) A2 M X2 Y SR? : &3
5) A OBt s XIZ 9 se? T
6) A:Bl% Ni= XIZ 9 5227 5: P
7) A:ORIE ME XIZ H sR? B:
8) A:XIt M X3 ¥ s27 5: €
9) A3l ME XIZ & s1R7 B: B
10) A ? B:

CHEat 20 MM,

Complete the table with the correct form of each verb.

AfCt 2 otz Lt aofsic +% % Ha
=} Ert 2s8itt | J

ABE 21 [H7]]eF Zo| tistE MM,

Look at the pictures and complete the dialogues as shown in the example.
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B:OlL|R, £7] & Efa

A OO Q7
B:OKR,
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A AHOIE 7
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5)
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Circle the correct negation.

1) Ofm| BI7H o1, T12iM Aol (R o) UK, asl cenzosue.
Complete the table with the correct forms of each word.
2) OfFl= URAUOINR. JiA st (= / ) UK. _ : : o
-ol2/0K —OtA /O A
3) Q@5 HEo| 7tR7? - otHR, (£ / o) 712, LaloF =K. | = =k i :
ECt Zolz ZolA |
4) 7508 AT QIAISO 7kR7 - OiLIR, (R /2F) 7t s ) ) - |
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|
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Look at the pictures and complete the dialogues as shown in the example. St
[57]] ] =t - o
A gl 7t27 St
B:ofg, Hmell & 7te il _ N
oHLI7} &0l M2, obAjCH o .
_ g - )
K (. _ Zct - i
‘ A LRIE HOHR? === e
B : oML, -~ A2 [l 2ol £HE BEMe.
EERL= .
2, Connect two sentences as shown in the example.
) [m7)] &7t UKL, TEHA 2T Fol R 7t
A1 OfR| LILE MIZ BHHOIR7? N
OfAfl LiLt M a — 31207k o)l R 7 Elofl B 72
B:otLR, . o o = [T
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Look at the pictures and complete the dialogues as shown in the example.
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SIMLICE XIF HEl2 HAS M F= ey
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=11 28l FAHR.

You are a medical doctor. Now you are on the ‘Health
Dictionary’, a health consultation TV (or radio) show.
Listen to the symptoms of audience members on the
telephone and give them advice.

i

HHIE (F= 2i0Q) T2 HUME'S
(= E1) U= AFR (£ HFRHALICE KR
O|Lt 7t=0] ofmbM THA&LICH SAS MHstT
SIS ESy=Ee el

You are 'watching (or listening) to the health
consultation TV (or radio) show ‘Health Dictionary’.
You are calling to have a medical consultation about
your health issue or a family member’s health issue.
Explain about the symptoms and seek a doctor’s
advice.
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A& 3 az2 21w 20| e e
Look at the pictures and complete the dialogues as shown in the example.

As1 2we s azsme [ 7)1

Match each word with the corresponding picture.,

7| %t HA Hl247] EHA| R Kot L EH}0| Hi

A BlAt] oA Tt

—
—

Bl i TokEy ol

2)
A RIFZ0 g A Z2to17?
B:
V&2 oirioik ere? U e s 3
Where do you board the following forms of transportation? Match each mode of transportation to the correct word.
A OfH & glo1e?
B:
L]
. O3B
4)
. A 0= SEIM Lizoe?
B:
c @
. 5)
AT MESTHetmol| 710k gL
C o
N OCIOlA Li2{OF £ 27
B:
[ J




StHal _E%._’! Grammar and Expression

1. V=(2)3a st

Aal cenzouie

Complete the table with the correct form of each verb.

—o8{1 /37 iR -O3{1/8{7 IR
Hr} Hedn 3Hg HC}
EfCt eict
LH2Ch Ct
23S0t =t
S5l Zict

re
o>
N

J3g B [27]) 20| 2R SASIHL.

Look at the pictures and complete the sentences as shown in the example.

112

7
N [ &7]] ’X’.@
W N

{J LH = :Hn'%- okrlzdn sHa

1) @\
\f\

(NE1 oplats
b ' .7/_._‘ll£|—,.

1=

2)

AEE2
3)

RI2
4)

re
of>

S H1 [H7]]eF 20| a2 2HAGHMIL.
Look at the pictures and complete the dialogues as shown in the example.

[ =7]]

A OfT]ofl 2 AoR?

2)
ATEE HOQ?
B:
3)
Ao ¥ g AHo?
B:
4)
Al RIFE B F & AHoR?
B
5)
A2 250 2 & HoR?
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Look

2. NYA N7EX|

20 [E7]]9t 20| thatE MG,

t the pictures and complete the dialogues as shown in the example.

2 JEE B3 [27)]9} 20| SIS 2MEH|Q.

Look at the pictures and complete the dialogues as shown in the example.

[&7]]

A MY M|, ol Liatoly 240197
B: FZell4l Stoqa-

A DRIZE M o Li2tol M @40{R7
{/
B:
/ A2 M, 0l Uizt 2400127
(RN KE] v,
LITII ﬁﬁ'ﬂ B: - _ —
4) 31
ATEEY M, ol Lt 240197
114 B: . 11!
N [&27]] A: Blelld W 27 2 2bnp edofLl 7deqa =
B ATLEIZ M, 0= Liatol M 240197 i
ot B: % & 7jzla A
g B: %
- Xl M X x-JO:I]]X
VA BN TN e ¥4 3 wve e 30t se sysMe
Complete the d dialogues with the correct particle from the box.
2) A:ZolM —_— - ol Ofl A 2N
[ o o 0 A SIAEEL ) Ho{R7?
3) A: B: OISR, 7ol
L 2) A:3miE0] ofiof loie?
4) A: - 7 B :2&( ) AN,
= - 3 A ME( ) EAK ) HIRE71Z etT 27127
5) . — B:OHR, 7[XtZ Bl 719,
- 4) AR5 B g Hoe?
6 B: EN ) 7k AT s
5) A:0|Z AlZolMR7?
- - B:OHIL, K= gy ) RE&LICH
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3. V-o}/of Zc}

&1 oo zosye

Complete the table with the correct forms of each verb.

o

| 4

- oh/oj M2 |

—0t/of Ente

-0t/ ®oi2

cicf Chol zAllg

AT

Lafsict ‘

7t2x|ct

7Ict2|ct

B |

=t

gict

‘ &=Lt E2lFAla

2 OHJ}O 7.|O EA'“R

=XT- A=

re
o>

Choose the correct sentence ending as shown in the example.

) 2=0[ X| Hdoloe

2) & FURK. ORI M, 1 2 & (ZoMQ / 2o =N )

3 XM= X5 =0 gloie. R

4) UL M, @F 50| ¢ 20127 12 @52 & (siMQ / 3 ZMQ ).

5) XA M, ojetsie

B, s AIZIIOIR, 10AITIX] ( MK / 210 ZMIR ).

2

6)

1 SI0{2 Amol ( MM /M =AML )

rx

7)

AOH

or

8) AEI2 M, XIF AlZE 0127 X2

g o close  TH{ ward

Y St L2HE (SHMIL /o FHR).

TUMZE I B (MM /AL MR ).

AZHE =2 o2, 1028 ( 7(ciIMe / 7(cke

S (ERAMR / ZAFHL ).

FAL ).

re
)3
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oj>
D

1S B1 ["7)]9} 20| LiSIE 2ANSINS.

Look at the pictures and complete the dialogues as shown in the example.

5)

S0l iR Jizn RiIms0) &

B:OIK. ofajz mrt zo| o

SEEG M

A XIS ofCio27 of o 91e?

B:OIeteie. X2 7ta Qpie.
_g_ﬂ;{-a::_.?;/tﬂ&

P AR B

B IO Wl &Lt shLt, 5 Al

SHO| EX 240127

Bliv {¢ Top2ly el

- ~E[2 M, Ol Stmojf o gx)97

HEA =xE Lotojg?

il FAHR? 0[0}7|5H HAQ.

What have your family and friends done for you on your birthday? Talk about it




Aal wmezsazye

Choose the correct particle.

1) Ol Rt=ocl( 2 / 22 ) 7IR7

2) Ol HAE FAA (2 /02 ) 71,
3 ML 7R B2 / 22 ) 7127

4) Ol AT S 2 / 22 ) YU

OH

5) FLof of72t M B 2 / 22 ) ML,
6) 62iR, Bi( 2/ 22 ) ZAlTh

7) Ol HiE7 = ME( 2 / 22 ) ZUch

8) O|tH Hislof] S 2/ 22 ) (S 7121 6K,
A& 2 ays =D [ 2ol 2ES B,
118 Look at the pictures and complete the sentences as shown in the example.
x
" [ &1
< A= 422 zoe,
1)
OFX{ M, 7M.
2)
HeiE, QMNR.
3)
gt 7t FML.

(e

r

l>
W

JEE BT [E7(]9 20| StE SMEIMS.

Look at the pictures and complete the dialogues as shown in the example.

[B7]]

2§§ the right

A

2fstoll oiC|2 o3l AnIR?
HEE2 ofsi2 7}2

0] AL ofC|2 797

- ddof ofCjofl Loie?

L&Y, ooz 227
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A& 2 238 =1 (w0 2ol taim 2y,
] Look at the pictures and complete the dialogues as shown in the example.

A&1 vz ere go s ) zo| 23S AMEIG. (872117 —

Write the correct clothing word in each box and complete the following sentences as shown in the example. |

|' A RE A} M7

B:OH|2, dl4Fa

1) P
B 44 A REMNE a7} Bote?
4|
i B:ote, ]
—.
.
2) 1,960m
AW A : Blapro] 017
e i
"-"’-E’Ji/_@\m,'\__ B:Y
H‘",
124 3) .
A SME 771 7197
u‘H>5 B: oL, .
=2
Ol
i
2 4) .
A O|Z0| Emge?
B:ul
5)

AL QX HaliR?

B:otle,

re
aj>
w

T2t Zo| olotr sl =AML,

Ask each other questions and respond.

KI7F Gigloj Q.
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CtSat 20| 4R,

Complete the table with the correct forms of each word.

re
al>

-0i2/0

—SLICH/ aLct -4

-2M2/M2

zola

kot il

A2

126

THo

=i2 I
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Y2 HE S 2Hs ¢

J5HMI2.

Complete the sentences with the correct form of the word.

_Lnl:{. OF

= [

un

Ct

) oM 07} H3E En

2) ofjoff (
3) WY AHo|ZE (

4) B|ARTH(

5) ok A Hi2| Ct2|7t FE (

H

gon

6) X FAL (

= [
f2H

rr

7) ENUL B HES

8) 2| LHY AIL{olA 2HLEM ZO] (

att 2Lt =t

SHA (

)MI27?

)M LB AofLtof e,
L.
JLICE,
) ZHIR.

me?

.
&y

TITot Z40] 0J0F7 [5f HAIS.
Ask each other questions and respond.
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2. A-(2)L N A& 3 aze = (wist 2ol 2¥S BB,
Look at the pictures and complete the sentences as shown in the example.
A&l osazosue.
Complete the table with the correct form of each word. [&7]]
‘ T At Eore
-2/L -2/v L R
| )
30t El =y T Amptsole,
ofl2eCt HEC
=Hstrt Act ) )
S 2 i_'/*" .
SE — LA 1T
s} 2ir) ) S
- - - L sa s
¢ '\Z\ IJ;I._ \I_ }\'/':\f
E”.Ef gd(}?AIEI- |'rf \ |' “?ﬁ h"{ '\L i \l't?f
in Xo|sic | | E"a\"\ A \\J/
L SfCH Ho|Sict | \ i/[.) 1'Ii %‘H = ‘-=-i
I — w8000 | | 900
[WY:ul} H| Mt M
Ag2 [27]]2t 20| 2Ee 2tMstML, Of AtgH _ Ao, oA TAS OHIOR,
Complete the sentences with the correct attributive form of the word in parentheses. 3) 4) o
|:'r /;n,f’h,a,‘):;[-l.“,":l
128 - 129
[=71] E__HE 2308?
x =C —
2 (=ieh J
8 1) X AlZoll A SEZ MR, w
(=) g
2) Bt=2ol= o A0l UL,
(ZIEsth 5)
[
3) TFE AX| oML
(=ch
4) Z710 °F2 Al T e
(E0h
H 2T XIS Z0t6l 2.
5) M7t LA MxE 4ole -
| (8ch
|
' 6) SuojiAd Al #nte?
| (rach
7 B2 x|opt REolof e
r (Zch
8) XM= HAIE Z0l6li2.
(AL R
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Look at the pictures and complete the sentences as shown in the example.

3. NPHEI[M]

S QA e I
e I el i [E7]] HhE el sidteql spube zoy g
Look at the pictures and complete the sentences as shown in the example. | = i) s SR Eledie &
| L
[£7]] | ﬁ 2
Ao #ASEL om0 % D | am
[E7]] '}) 2)
1) o X
Lilt= == ol
2) -
EI 3o
130 Bed 128 w0 w20l 232 ause
> ) EAHO 0|HYUS HLHOQ. Look at the pictures and complete the sentences as shown in the example.
mo ST =
o
- [&7]]
o
Hl
: AEo ul o a1 | Hm 2 A EBloy g
4) 2B &= AlAHLLy =S £z .
= ___—__-_-_—__-_____——-—-_—_______—_
ol IOE ok
1)
5)
o
L= st=0] M2 FHOQR xjge .~
2)
A& 2 g 1o Tz =1 (909l 20| 8 2ol M. | | N
Look at the pictures in ‘¢1<; 1" and change the sentences as shown in the example. slol2 B
] AE[E2 RI0IA AR Baunt
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sd2 e A
S oL

—y
w
-

BlvA b 5% 1o fri



132

x
Mo

to=i2 I

o A2

&1 cosozo sue

Complete the table with the correct forms of each verb.

-of2/0e

—0H/0o| HM2

ohLtc

lJl!-L,-_B_

rCt

Halsict

2{c}

l:l;l o4 8

BHCt

OFA[TH

Tk

elict

&2 e =D (200 20| S BAHHE.
Look at the pictures and complete the dialogues as shown in the example.

B:

A 9X}7t O1F EY|R.

—"’-J'Hi OL;OI- HAla

DS E o R

D EIOATLOFFE HYUIR.

A

af>

3 288 wu w0y 20/ ez o
Look at the pictures and complete the dial

[&7]]

JatMe,

ogues as shown in the example.

A RIS0IM ol Jtayn sy
OIC{7} Zof2?

B: HlZEofl She] 71 wayin

L 2I20(E W2 s
22 9I=0{7} xinji027

LB SAIZ o sl
R2 240] gtgloie?
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F& L2yt So1e?
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Today you have a first date in Seoul. Ask a Korean
friend which restaurant is good, what to order, and
where to go after eating.

Mee & mes o2 27} A Ho|ES slm
BiLICh 1 ZI00 £ H0|E BAS Adfel X

Your foreign friend who is not familiar with Seoul
is going to have a first date. Recommend some good
places for a date.
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Look at the pictures and complete the dialogues as shown in the example

A& 1 wve s zayse ause [27]]
Complete the dialogues using the correct form of a verb from the box. Axta mo
% | : g = =1 &
ESHECH W BSooisict oS alsn sue ojesic S 14:40 A= 0l ZIRb= x| Eah2e
=% 00:00 B: 23 E g AR Hoof] ‘}Ha’"o"H.&
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Look at the pictures and complete the sentences using the appropriate sentence from the box.
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Complete the table with the correct form of each word. - e
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Look at the pictures and complete the dialogues as shown in the example.
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Complete the table with the correct form of each word.
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Look at the picture and complete the passage as shown in the example.

L&M= = IO‘IR'))
(XI5Holl= ot Al2tS0| loiR7 _ )
K7|= XISHE 2toloilR. X|sHoll= AR olF 2ote.

2) A= A1, 3) A= A0L.
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Look at the pictures and complete the dialogues as shown in the example.
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Complete the sentences as shown in the example.
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Look at the pictures and create the sentences as shown in the example
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Look at the pictures and complete the dialogues as shown in the example.
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Look at the pictures and complete the sentences as shown in the example.
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Look at the pictures and complete the dialogues as shown in the example.
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1 2we uz 20 232 eusme
Complete each sentenc g the appropriate word from the box
AAFSIC H=3ICt E35tolrt el oy
tE|IE &

A i

Ef 1ol 2*113 )

22 izl wne cHolE M.

Complete each sentence using the appropriate adverb from the box.
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Choose the correct adverb in each of the following sentences.

) E=0ll= dol (& / 20| ) Qlofe.
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Your girlfriend got mad because you were late for a

date. Explain to her why you were late and try to pacify
her.
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Your boyfriend was an hour late for a date. He is often

late these days. Ask him why he was late and tel] him
you don’t want to see him anymore.
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